
Chiffres Romains (J)
Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMMCXXIII = 3123 MCCCLXX =

MMCMXCIII = MMDI =

MMDCCLXII = MMMCXCI =

MMMDCCCLXXXIII = MMMDCXXXII =

MMXXXIII = MMCMLXXXIV =

MMCLXI = 2161 = 3782

= 1183 = 3695

= 3980 = 1928

= 3267 = 3123

= 1066 = 1926
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Chiffres Romains (J) Solutions
Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMMCXXIII = 3123 MCCCLXX = 1370

MMCMXCIII = 2993 MMDI = 2501

MMDCCLXII = 2762 MMMCXCI = 3191

MMMDCCCLXXXIII = 3883 MMMDCXXXII = 3632

MMXXXIII = 2033 MMCMLXXXIV = 2984

MMCLXI = 2161 MMMDCCLXXXII = 3782

MCLXXXIII = 1183 MMMDCXCV = 3695

MMMCMLXXX = 3980 MCMXXVIII = 1928

MMMCCLXVII = 3267 MMMCXXIII = 3123

MLXVI = 1066 MCMXXVI = 1926
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